
AH.IV/PHIH/CC.WII/23
B' A. 4th semester (Honours) Examination, 2023(cBcs)

Subject: Philosophy
Course: CC-VII

Time: 3 Hrurs
Full Marks: 60

The figures in the rigltt hand ntargin indicate Jull ntarks.
Candidates are requirecr to give their answers in their own w*ord,s

as far as practicable.

sfr,r dv? 4i<m?fr fir6 Mtor
q?,flAnm .rstlw fi-cqa eFp E-er fieo q7q1

Ansu,er ail\ ten questions of the fbllowing:

f;xFTiirtr cq @E;t s4ff qN< Bs< ns :

(a) What is meant by ,argument,?

{fu <uzs f, mr<nar

(b) What i; class inclusion?

c+fi q,rlb+-<cf $1(s <(qz

(c) What ir meanr by distribution of a rerm in a proposition?

<Dr{ 'kr{ <Il"ll-st <-{N fi fdi_<lfil

(d) Give th: definition of conrraclictory opposition.

1i-sq. fr3.lfRtr]< x@l n€ l

(e) What is existential import of a proposition?

<DrdK sfuq{-{s otqq{ <-q-N f, f,dFr.t{?

(f) What is standard form of categorical syllogism?
qiq"i qFFl.ff, fi-<z"m-alx +]m <rer

(g) How is rhe figure of a caregorical syllogism determined?

.!sE .ft<:qm{rlrr< qq;r frsTr< fi6Rs e{r
(h) Is the negation of a contingent statement form always contingent? Give reason for your answer.qffi qro&s <mmrcfi frefi fr qfrE *,*G$ {c<? FNR E-€.u< qe[cs. 1& r'e r

(i) What is lorrnal proof of validity?

i<irof< q$Krls q$"f $-m-Tcq?
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O Whzr is quantifier? What are its rypes?

"lR:t"f$ $t$ TCq? ,{fr $sefo[c{< qn?

(k) Wh;t is bound variable? Give an example.

<{a2i{$ $t($ {C4? q$E BqE{q n.3 r

(l) What is meant by 'instantiation,?

lbi{l-+<+' {acE f, m[fl{ ?

(m) What is a unir-class?

€o+ cc,5i $Tcs {m ?

(n) Wha is valid argument form?

i<< 'rfu< q+l< +]m <cE?

(o) Wha is a contradictory statement form?

qestf qefi <Ellsl< +t($ <-,?

2. Answer u'1, .four questions of the following: 5x_i=lL)

ffifirc (.r @/c;t nreE er:r< Es< nts :

(a) 'No sluares are circles.'- Does this proposition have a contrary? Give reason fbr r.our ans\\,er.

'mrtr I <uFffiq ;rr r€K.t< r'- €E <DTtr< fi{ftg <}r fr qs< ? cgrTr< EEr< <- >*-r afu n€ |

(b) Explz in the rule of cate-eorical syllogism with the helps of a suitable example rhe r,iolarion
of wlrich leads to the fallac_v of the illicit minor.

Fi.<qr drrcjl{ R filirrE .Tc<;r $<-a{ ffi{ el+-mt{ q{ E] E"ire E r5qrR <lr?fi $r<I r

(c) Test he validity of the following syllogism by means of venn diagrams:

There must be a strike at the factory, for there is a picket line there, and pickets are present
only rt strikes.

cs;r6a< {iem fi-o< qrrx {fum< krot Rum +< :

$T<{Ffitr6, w<"{R <fr} uqrq, $-r<q 6T{t{ aE<t Derq ,!<( et{fl stl-c$ €TT]q <*ii Eo r

(d) Syrnbrlise each of the following by using logical notations of propositional functions and
quant fications:

fr-(o< ez'cf$E <f+t-6o <b-{lt"l.s$ \3 T]Ts <Kef< q< ffi $r<} s

(i) linake-bites are sometimes fatal.

:t{q({4 +.{c;{l $?rc{I :IlflY's E{ I
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(ii) Orarges and mangoes are nutritious.

$:ra16-ry ,!<( srl1 q 1B+< r

(iii) An1 girl is healthy, if she exercises regularly.

Gr (ot-adl <lB-oi {l-Q]Tef qr<, {fr m ffifc< <lt{.E T-f,{r

(e) The conv,:rsion by limitation is not considered as valid in the Boolean interpretation. Explain

the reaso r with the help of a suitable example.

Efix sn:r ffi qrT6.r(s ?<<r*z"l sqq s-{f R{ qt r E"t39 Eqrq<qqq qr okq qi$t rc-cnlr

(fl Expiain tre need of quantification theory.

4Rrr"FF .rcq< $mqfr{-et <rtq1 $L<tl

3. Ansu,er en\' /)1o questions of the following: lOx2=ZO

ffiiirtr K RZ;t Vfr m< Es< q\3 s

(a) Use truth table to determine the r-alidity of the following arguments: 5+5

qq{r-<fi< TRt6{r fi-cr< {fuefil< c<<sr ftu< +r+l r

(i)(V.-W):X
(w /-x)

- (v'w)
(ii)(B.C):(D.E)

BV-D
.. -C:-E

(b) Construct formal proof of validity for the following arguments: 5+5

ft-cx lfusft-{ kiror< qrct{rtu a$.i frft smt s

(i) T:(U.V)
(U', V):W
.'. T: W

(ii) (:x) (Jx Kr)

(,r) (rr: Lr)

.'. (_ r) (Lx . Kr)
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5+5

(c) Derermine the invalidity of the following arguments by the method of assigning trurh varues;

qEr{-ql w(grq "lq.en Tlqmi frcflE l&efr.< qt+rsr Rur< +ro :

(i S:(T:U)
V:(W:X)
T_:(V.W)
-(r.x)
.'. S=U

(ii) (t,r) (B_r . - Cx)

(-r) (D.r: _ C"r)

(r) (D"t: Br)

(d) State and exprain the principre of universar Generalization.

)ilffi Tmffi-s<"t fr&fi-{ ffi e {fl<fi q\e 
r
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